GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION
NATIONAL TALENT SEARCH EXAMINATION, 2016

(STATE LEVEL)
(FOR STUDENTS STUDYING IN CLASS X)

Mental Ability Test
State Code  Year Code Centre Code Serial No.
~ Roll No. 213 116
Full Marks : 50 Tﬁ'{-’y’: ¢o
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Instructions to Candidates sAsiieeg &S Fodiear

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 50 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Beforeyouproceedtomark inthe OMR Answer-
Sheet, find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer- Sheel

Eample: (@) @ ©
(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall. .

6. You are to write your Name and Reoll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: Read the questions carefully and
give answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer-Sheet.

[ ¢ el SEeIr siv, o Terelm vy

e Teal Fdivn $9 ¥R e 9N, Teasign WS
€ 599 I comia Tea fniee F91)

1. If (x + a) is a factor of f(x) = x* + ax?
—2x+a+4thenais

(@ %

®) -2
© -3
@ -1

2. Inafamily, the average age of 5 children is
9 years. The average age of those five children and
their parents is 20 years. If the age of their mother
is 5 years less than that of their father, then the age
of their mother is
(a) 40 years
(b) 50 years
(c) 35 years
(d) 45 years

3. If a>+ b?+c? = ab + bc ¥ ca then the value
a+cC

== 9%
(a) 2
(b) 0
(c) 1
d) —1

4. At the end of the year 2002, Arghya was
half old as his grandfather. The sum of the years in
which they were born is 3854. Age of Arghya at
the end of year 2003 is

(a) 49 years
(b) 50 years L
(c) 51 years
(d) 52 years

of

[3]

5. The product of 12% of an integer and 20%
of the next integer is 61-2. The integer is

(a) 50

(B) =31

(c) 63

(d) both (a) and (b)

6. A cone and a hemisphere have equal bases
and equal volumes. The ratio of their height is

(a) \2:1
(o). 2: 1
() \3:2
) 3:1

7. The unit’s digit in the expansion of
(2317)> is

() 7
(b) 9
() 3
@ 1

8. A number is first reduced by 10% and then
it is again increased by 10%. Then the number is
changed by

(a) 2% increase
(b) 10% decrease
(c) 10% increase
(d) 1% decrease

9. How many solution does a linear equation
in two variables have?

(a) one
(b) two
(c) three
(d) infinite



10.

A sum of money becomes double at

certain compound rate of interest in n years. In
how many years it will become four times at the
same compound rate of interest?

(a) 2n’years
(b) 2n years
(c) n®years

(d) 4n years

(Questions 11—20)

DIRECTION: In each questions 11 to 20 below,
there is a number series with one term missing
shown by ‘?’. The term is given as one of the
alternatives among four numbers given below it.
Find the term and indicate your answer by filling
the circle of the corresponding letter of alternatives
in the O.M.R. Answer-Sheet.
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11.

12.

13.

14.

1,2,6;15, 312
(a) 47
(b) 52
(©) 55
(d) 56

11, 23, 48,99, 2, 409
(@) 200

(b) 202

(c) 201

(d) 205

8,24, 12, 36, 18, 54,7
(a) 27
(b) 68
(). 172
(d) 108

2, 10, 36, 50, 82,?

(a) 110

(b) 112

(c) 120

@) 122 A

[4]

15.

16.

17.

18.

19.

2,9,30,93 ?, 849
(a) 182
(b) 282
{c) 192
(d) 292

0, 6,24, 60, 120, 210, ?
(a) 240

(b) 290

(c) 336

(@) 504

1,4,217, 16, 7, 36, 343
(a) 64
(b) 125
() 121
d) 216

2.10,15,17, 23,2431, 9
(@) 31
(b) 34
(c) 33
(d) 35

2,7,24,77,9,723
(a) 100
®) 238
(©) 250
(d) 235

134, 245, 356, 467, ?
(a) 579
(b) 568
(c) 578
(d) 479



(Questions 21—30)

DIRECTION: In each of the questions 21 to 30,
there are four items, three of which are alike by
some means or other while one is out of the class.
Find out the odd item and indicate your answer by

filling the circle of the corresponding letter on the
O.M.R. Answer-Sheet.

(T & 21 (A 30 #1® 20o5 2es 513 I 2% =IE,
I 50 @E T @EeIRE T G323 6!
11 R i L7 - o T < I R A <
Tea7inas WS 38 739 F300 T3 ]

21. (a) Methane
(b) Ethylene
(c) Acetylene
'(d) Benzene

2 ) Thyroxine
(b) Adrenalin
(c) Iodine

(d) Insulin

(a) Leprosy
(b) Influenza
(c) Typhoid
(d) Dysentry

(a) Ladder
(b) Staircase
(c) Bridge
(d) Escalator

(a) Tarapur

(b) Kota

(c) Kalpakkam

(d) Paradeep

(a) Sodium chloride
(b) Magnesium chloride
(c) Hydrogen chloride
(d) Pottasium chloride

25.

27. (a) Granite
(b) Lignite
(c) Peat

(d) Bituminous

28. (a) Lymphocytes
(b) Pepsinogen
(c) Fibrinogen

(d) Haemoglobin

[5]

29. (a) Celsius
(b) Calorie
(c) Farenheit

(d) Kelvin

30. (a) Wheat
(b) Rice
(c) Maize

(d) Mustard

(Questions 31—40)

DIRECTION: In each question below there are
two words separated by *:” in the upper row. Below
that there are some words on each side of the
symbol ‘:’. Find the relation between two upper
words and select one word from the right side of
‘. below which have the same relation as above.
Fill the circle of the letter denoting your selected
answer on the O.M.R. Answer-Sheet.
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31. Scribble : Write

Stammer : ?

(a) Walk

(b) Play

(c) Speak

(d) Dance

32. Errate : Books

Flaws : ?

(a) Speech
(b) Vocabulary
(c) Metals

(d) Manuscript

33. Funk : Vitamins
Curie : ?

(a) Radium

(b) Proton

(c) Photography
(d) Uranium



35.

36.

7.

38.

39.

Darwin : Evolution
Archimedes : ?

(a) Friction
(b) Lubrication
(c) Liquids
(d) Buoyancy

Giant : Dwarf
Genius : ?

(a) Wicked
(b) Gentle
(c) Idiot

(d) Tiny

Pesticide : Crop
Antiseptic : ?
(a) Wound
(b) Clotting
(c) Bandage
(d) Bleeding

Taxonomy : Classification
Pedology : ?

(a) Nature
(b) Farming
(c) Soil

(d) Mountain

Pigeon : Peace
White flag : ?
(a) Surrender
(b) Enemy
(c) Victory
(d) War

Millionaire : Wealth
Genius : ?

(a) Capability

(b) Smartness

(c) Awareness

(d) Intelligence

[6]

40. Compass : Direction
Altimeter : ?
(a) Sound
(b) Height
(c) Eyesight
(d) Weight

(Questions 41—50)

DIRECTION: In questions 41—50, numbers are
placed in figures on the basis of some rules. One
place in the figure is indicated by the interrogation
sign (7). Find out the correct alternative to
replace the question mark and indicate your
answer by filling the circle of the corresponding
letter of alternatives in the O.M.R. Answer-Sheet.

(Aot 3 41 e 50 #E amafere ow g At g
g e e et sl @30 TRIE 7 B
ment ug | el frw Sy oent 3ifts Terefem
g A TS €., TEFNTT I8 779 T 1]

i 85 20 5

126 24 6
175 ? i

(a) 22
(b) 24
(c) 26
(d) 28

42.
217 9
126 28

(a) 63
(b) 64
(c) 65
(d) 66



45.

@ @

)¢

@ ©

&)

® @

(a) 2
() 3
(c) 4
(d 5

21

51

16 |109| 2

22153

19

|z

(@) 25

() 129
() 7
(d) 49

8

15

13

4

9

@) 115
(b) 130
(c) 135
d) 140

@ ® @ ® & &

6

©

47.

49.

50.

27

22

13

12

26

10

20

(a) 52
(b) 48
(c) 49
(d) 50

(a) 60
(b) 135
(c) 256
(d) 16

(a) 194

(b) 188

(c) 190
(d 192

27

15

45

(a) 51
(b) 48
(c) 52
(d) 54
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Scholastic Aptitude Test
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Full Marks : 100 o s So00
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Instructions to Candidates AR ofe Rodeat

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 100 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Before you proceed to markin the OMR Answer-
Sheet find out the correct answer from the four alternatives
(a), (b), (c) and (d) against each question in the Question
Booklet. Darken the circle with a Black Ball Point Pen,
to the corresponding correct answer for the item in the

OMR Answer-Sheet.
® @ © @

Example :
(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your roll no. in
OMR Answer Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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Mathematics

L Iff(2x+1)=x2+ -1 + 1 (x #0), the value
, 4x
of f(x) is

6.

(a) 4x2
® 4 (xely
© 3%
d) 4(2x +5)

If x — 24/x = 3, then the value of x is
(a) 1

(b) 3

©) 9

d -1

The value of V5 — 2V6 is
(a) £ (3-12)

(b) V3-12

(c) V2-+3

(d) All of the above

1 1

If x = ay, y = bx, the value of -~ + 5

(@ 0
() x+y
Gt

d 1

The least value of 2x* - 4x + 3y*— 18y + 31

(@) 3
(b) -1
(0
(d 2

If 2r = h + V2 + h2, the value of r: h is

(r, h#0)

(@) 4:3
(b) 3:4
{12
3 2:1

[3]

%

f(2x +%] :x%ﬁi +1 (x #0) T f(x)-a9

(a) 4x

(®) 3 (2x+5)

© ;%

d) 4 (2x +3)?

X — 2Vx = 3 3@ x99 W
(a) 1

() 3

(c) 9
d -1

. V5 —2V6~a3 Wi

@ £ (\3-2)
(b) V3-12
(c) V2-43
(d) ®orEz 33

| 1
X=ay,y=bx ¥ 7 + 759N

(a) O
(b) x+y
(©) —

Xty
d 1

2x% — 4x + 3y? — 18y + 31-93 F7ex I
(@) 3

(b) -1

© 0

(d) 2

2r=h+\Vr+ %@ r: h-4q 5 (r, h#0)
(@) 4:3
(b) 3:4
) 1:2
@ 2:1



7. Ifx=cy+ bz, y=cx + az, z=bx + ay, the
value of a® + b? + ¢ 1 is
(a) abe
(b) —abc
(c) 2abc
(d) —2abc

8. Ifx(x*-1)<0,then
(a) x<0

(b) 0<x<1

(c) x>1

(d) None of the above

9. Among the numbers 22, 32, 4150 and 5'%,
the greatest is

(a) 225{1
(b) 32[){1
(C) 4I50
(d) 5]'.')0
10.
5%6is
(a) 20
(b) —20
(c) 30
(d) —30

Ifaxb=a+b-—ab, the valueof 4 * 5 +

11, When the rate of interest being increased
from 10% to 1 2% %, the yearly income of a person
increases by Rs. 1,250. The principal amount was

(a) Rs. 50,000
(b) Rs. 5,000

(c) Rs. 15,000
(d) Rs. 37,500

12. A man sells two articles each at Rs. 198.
He makes a profit of 10% on one article and a loss
of 10% on the other. Net profit or loss of the person

is
(a) 2% profit

(b) 2% loss
(c) 1% profit
(d) 1% loss

7. x=cy+bz,y=cx+az,z=bx+ay A
a2+ b2+ c2— 199 3
(a) abc
(b) —abc
(c) 2abc
(d) —2abc

x&X-D<0z=
(a) x<0

(b) 0<x<1
() x>1

(d) THEa @GS T
2750 3200 4150 gz 5100 3amesfer sy g2efd

(a) 2250
(b) 3%
(C) 4150
(d) 5100

a*b=a+b-ab 2@ 4 *5+5*6-9a W
(a) 20
(b) —20
(c) 30
(d) -30

10.

11. R0 T 10% (e 3 Cofca 12 5 % 2eam
3 iR NS S 1,250 Biet 3 e | STt iR et

(a) 50,000 Bi=rt
(b) 5,000 Gz
(c) 15,000 Br=p!
(d) 37,500 Gl

12. ¢ & 46 w257 2Afef 198 Tre f&fe e |
ABre ©F 10% =iie ¥3: Germibee o 10% =fe =1
@ & @G Toig =S A Ffe 25

(a) 2% =
(b) 2% =f
() 1% =re
(@) 1% =%

141



13. The price of a house is Rs. 6,76,000. If the
price increases every year by 4%, before two years
back the price of the house was

(a) Rs. 6,00,000
(b) Rs. 6,25,000
(c) Rs. 6,50,000
(d) Rs. 5,75,000

14. ‘O’ is any point inside the rectangle PQRS,
then
(a) OP?>+ OR*=0Q* + 0S8?
(b) OP? + OQ*= OR? + 0S?
(c) OP? + 0S?= 0Q? + OR?

(d) None of the above

15. The vertical angles of two isosceles
triangles are equal. If the ratio of the areas is 9 : 16,
the ratio of the heights of the triangle is

(a) 9:16
(b) 16:9
(c) 3:4
(d) 4:3

16. If the edge of a regular tetrahedron is 1 cm,
then its volume is

(a) SO
(b) ? cm3

© 2

@ 2

cm’

cm?®

17. The length, breadth and height of a solid
rectangular parallelopiped made of copper are
11 cm, 9 cm and 6 cm respectively. How many
coins of radius 1.5 cm having thickness 0.25 cm
can be produced by melting it?

(a) 168
(b) 170
(c) 336
(d) 340

[5]

13. @36 afex =0 6,76,000 Bt I =fC T=7
AT o0 4% I I A O 2 I et AR
I e

(a) 6,00,000 St
(b) 6,25,000 Si=st
(¢) 6,50,000 Bizt
(d) 5,75,000 Gi=t

L
i

14. PQRS SHoEd SOiE ‘0’ @ @ @S
= ==
(a) OP? + OR?*=

(b) OP? + OQ?*=OR? + 08?
(c) OP? + 0S%=0Q? + OR?
(d) Towa @=HE aw

0Q? + 082

15. b wfrz form SEmR T AR

AR CFam e SAS 9 : 16, 70 o= @ fTgemaz
THOF AT I

(@ 9:16
(b) 16:9
(c) 3:4
(d) 4:3

16.

(I [T BYTAR A (7 1 om 20A SRS
m i

(a) l cm®
®) < cm3
(c) —= cm?®

(d) T cm3

17. oI (oS @3 =0 Al Groitera o, 2%
@ Twe! IUFE 11 cm, 9 cm € 6 cm | Ao s
1.5 &fy e e 0.25 N @uRFS ol @ todt
A ?

(a) 168
(b) 170
(c) 336
(d) 340



18. If sin’A + sin*A = 1, the value of tan’A — 18. sin?A + sin‘A = 1 26 tanA — tan*A-43

tan*A is (@ -1
=iKa) —1 (b) 1
) 1 © 0 b
(c) 0 @) 2 :
d) 2 ‘ i)
19. The least value of 257 %4 2% i 19, 2sx4 2o g HFESN A
_ =@ 4 (a) 4
(b) 2\2 (b) 22
(c) 2 (© 2
@ V2 @ V2
20. If ABCDis acyclic quadrilateral, the value 20. ABCD «3f6 Iy B‘QQ‘@ 2 tan % tan % A
oftan? tan € +tan B tan 2 is tan 2 tan 2 -9z 5
2 2 2 2 2 2
(a) 0 (@ 0
(b) 1 (b) 1
(e) =1 () -1
(d) 2 (d) 2

(6]



P Physics

21. The linear momentum ‘p’ of a body having
mass ‘m’ and kinetic energy ‘E’ is
(@) p="2mE
(b) p=VE2m
(© p=\2m/E
(d) p=VmE
22. In the adjacent V-T diagram what is the
relation between pressures P, and P,?
V(VOLUME) p,

PI

. » T (TEMPERATURE)
(@ P,=P,
B)B,> P,
(@ B<P,
(d) Cannot be predicted

23. A musical instrument has tones of
frequencies 256Hz, 502Hz, 1020Hz and 1280Hz.
The frequencies of the fundamental and its
harmonic are given by

(a) 256Hz and 502Hz respectively

(b) 256Hz and 1020Hz respectively
(c) 502Hz and 1020Hz respectively
(d) 256Hz and 1280Hz respectively

24. The total energy of a particle executing
Simple Harmonic Motion of amplitude ‘A’ is
proportional to

(a) A?
(b) A2
() A

d) /A

25. Refractive index of a medium with respect
to air is jL = \2, find the critical angle between the
two medium.

(a) 30°
(b) 90°
(c) 45°
(d) 60° 2

SLRIEL)
21. ‘m’ SR @F ITT & B’ 7, 39
e e @ ‘pTI
(@) p=\2mE
(b) p=VE2m
(©) p=\2m/E
(d) p=VmE

22. a8 V-T @i o7l P, @<k P43 g
T e

V (SES+) P

» T (Teer)
(@ P,=P,

®) P,>P,

(© P,<P,

(d) et AT W

23. 36 IE (A e 3@ 256Hz, 502Hz,
1020Hz @3¢ 1280Hz =14 74 Itz | $74 34 8
A I

(a) FASFE 256Hz 938 502Hz

(b) TAFE 256Hz 9% 1020Hz
(c) T 502Hz 932 1020Hz
(d) IAUFE 256Hz «=r 1280Hz

24. @& oersifere A @3 FE Reim A 7@,
7 (I =if& FTea @iba slgeiifes 2@
(a) A?
(b) A
() A
d 1/A

25. A CTE @ YR 2feTE V2 2w, @
W2 TS CFCI AEG (P AW FO 2
(a) 30°
(b) 90°
(c) 45°
(@ 60°

(7]



26. What will be the colour of the sky as seen
from the earth if there is no atmosphere?

(a) Black
(b) Blue
(c) Orange
(d) Red

27. A convex lens of glass has power P in air.
If it is immersed in water, its power willl be

(a) more than P
(b) less than P
(c) P

(d) more than P for some colours and less
than P for others

28. Two electrodes are maintained at a
potential difference of 100V. An electron moving
from cathode to anode gains kinetic energy

(a) 160 x 107" Erg
(b) 100 Joule

(c) 160 x 107" Joule
(d) 100 Erg

29. Inatransformer, the number of turns in the
primary and the secondary are 140 and 280
respectively. If current in the primary is 4A then
the current in the secondary is

(a) 4A
(b) 2A
(c) 6A
(d) 10A

30. What is the equivalent resistance between
any two vertex of a triangle if the sides of the
triangle are of equal resistance?

(a) 3R
(b) 2R
(c) R
(d) 2R/3

8]

26. 3rgwes I A AP, AR A FRE S
(I (RIS 2

(a) it
(b) F=
(c) cotiEmh
(d) ==

27. 31 e @b et e el A P, 9w
wet ey fovsifeere et @3 TSl (e e

(a) P-ser= @
(b) P-stef=t 3%
(c) P

(d) g efa & P-93 o (@ @2 Ik
& P-93 39

28. b ofd<aza g 100V [ vn'ﬁl..m
AR | I TERGT FNAT (AT SIS (OIE I
sifexifes sreia Taca?

(@) 160 x 107 sitsf
(b) 100 %=
(c) 160 x 107 &=
(d) 100 =sf

29, 93 TETHET T € (N PYATS 21 Yl
AT 140 @R 280; YU PEATS NG 4A T
(N POATS A T ?

(a) 4A
(b) 2A
(c) 6A
(d) 10A

30. MR @ (R) i a3fd fagrem amef
ofom 91 Zom | Rigea @ @ 7 AR v g

@Y T I
(a) 3R
(b) 2R
() R
(d) 2R3



m=31.  Fill in the gap: 31. I AR 98 AT e

Mg®+ H'—>s Na? 4 —— Mg® 4+ H'— Na? + ——di 0
(2) H' (a) H'
(b) He (b) ,He*
© B (c) B
d) H? d H
~ 32. Gamma ray is highly energetic 32. it 3 zE T ST t i
(a) Electron (a) TETREH
(b) Proton (b) caos
(c) Electromagnetic wave (c) owmaIT oI
(d) Neutron (d) e
33. The radius of the nucleus of an atom of 33. A ooyt B @ A e
mass number A is proportional to e ew @7 Fx AT 21 ©f =
7 (a) A (@) A
(b) A?.G (b) AZ!B Hog
(C) AlB (C) Al3
(d) AS:‘S (d) ASB

(21



Chemistry

34, The-number of atoms in 0:1 mole of a
triatomic gas is
(@) 6026 x 10%
(b) 1-806 x 10%
(c) 36x10%
(d) 1-8 x 10%

35. Anion with mass number 56 contains 3 units
of positive charge and 30-4% more neutrons than
electrons. Atomic number of the element is

(@) 24
(b) 25
(c) 26
(d) 27

36. Which ofthe following orders of ionic radii is
correctly represented?
(a H>H'>H
(b) Na*>F > 0>
(c) FF>Na"'>0*
(d H>H>H"

37. Inthe structure of Napthalene the difference
between the number of sigma bonds and the number
of pi bonds is

(@ 6
(b) 7
©) 12
d) 14

38. xmole of oxygen gas is kept in a container of
definite volume at a pressure of P atmosphere at TK.
At the same temperature another y mole of oxygen
gas is introduced in that container. The total pressure
will be

(@ x(1+y)P

o 25
(©

yP
) (x+y)

x+y
39. 0-25 mole of a hydrocarbon requires 0-5
mole of hydrogen for complete saturation. Possible
formula of the hydrocarbon is
(a) C,;Hy
(b) C&'H.s
(c) CH,
(d) CH,

ERIED n

34. 01 o @3 GoRTGE PR N AT
HSIEG
(a) 6:026 x 102
(b) 1-806 x 10%
(c) 3:6x 107
(d) 1-8 x10%

35. 56 SPRUIRME @3 9w 3 9T 4919 WYl
J29 (A | TAADE TR TR O SRR AL S
30-4 #oie SIf4 | G0 a1 T 25

(a) 24
(®) 25
(c) 26
d) 27

36. Tt I ST APTdalE T i
(@ H>H'>H
(b) Na*>F > 0>
() FF>Na'>0*
(d H>H>H'

37. “eifEw (oo S5 AeeE i Bisist 95Al €
AR TN AR AN ==
(@ 6
(®) 7
(c) 12
(d) 14

38. ¢33 WS wTeET it TK Sxeom x (e
GRS G P SHBERIRE bieel F1 Sz | @ #Alta G2
THeo SR y (e SRHEE hP1 &A@ FAE GG 617l
1G]

(@ x(1+y)P

® 5y
(©)

yP
(d) (x+y)

Xty
39. 0-25 Giie @l FRGFEER o4 ReffeT &
0-5 (H TGS ARG 23 | q ARy
AP 23
(@) C;Hy
(b) C,H,
(c) CHg
(d) CH,

T pe



40. Which of the following pair of compounds
represent functional group isomerism?
(a) Diethyl ether and ethanol
Rl (b) dimethyl ether and ethanol
(c) Acetaldehyde and Propanal
(d) Isobutane and Butane

41. Extraction of highly electropositive metal is
done by
(a) Electrolysis of aqueous solution of metal
: chloride.
(b) Electrolysis of molten metal chloride.
(c) Carbon reduction of the oxide of the

(d) Strongly heating the oxide of the metal.

42. Whichone is a Redox reaction?
(a) HCl+AgNO,=AgCl+HNO,
(b) NaBr+ HCl=NaCl+ HBr
(¢) Na,O+ H,SO,=Na,SO,+ H,0
(d) H,+Br,=2HBr

43. Some amount of air is kept in an open
container at 27°C. At what temperature the container
should be heated in order to eliminate 3 th part of the
air from the container?

(a) 307°C
(b) 207°C
(c) 107°C
(d) 100°C

44. Whatis the pH of 0-005(M) H,SO, solution?
(@ 3
(b) 4
(© 2
@ 5 :
45. A and B are isotopes. Which equation is
correct regarding the two atoms?
@ -p)y’-q)=0
(b) xX*+p)(y*+q)=0
© X-)(y’-p)=0
@) *+q)(y*+p’)=0
46. A mixture of CH,,C and C,H, is passed
through a basig¢ copper (I) chforide solution. Which
gas/gases will come out?
(a) Whole mixture
(b) CH,and C,H,
(c) CH,and C,H,
(d) CH, :

40. [ @ AoITESt IAFIES 9O AN

AR 2
(a) ©R2Z 3 8 2 %
(b) CRfiEe 227 6 2w
(c) FEIETCZRE € cali=fiie
(d) wREiIREE e {E%a

41. O ofbe-1u 4y fwkia Fat = aiela
(a) @RIES FREEF T qaeR SR
FA|

(b) @ﬂ%wﬁ—mwﬁgﬁmﬂ

‘ ¥y

(© WWWWWWW
(d) 4rpn IHREE SiaeinE e 3 |

42. @D aEe-Rer R
(a) HCI+AgNO,=AgCl+HNO,
(b) NaBr+ HCI=NaCl +HBr )
(¢) Na,0+H,S0,=Na,S0, +H,0"""
(d) H,+Br,=2HBr

43. 27°C Txeely el 0 oAl #itca g qrg art
IR | A 3 SIoan Sog F36 AT 3wmvna1%
A AR AR

(a) 307°C
(b) 207°C
(¢) 107°C
(d) 100°C

MITIG

44. 0-005(M) H,SO, 73t pH 97
(@ 3
(b) 4
(© 2
@ 5

45. A GR B AT SR | R 6 S
CFGE (e N9 2
@ (-p)y*-q)=0
(b) (Z+p)(y*+q)=0
©) X-g)(y’-p)=0
@ E+q)*+pH=0
46. CH, CH, 4% C,H, a7 fieics =i 3 (1)
FIAITC T S AT 277 | (Pl ﬁ'ﬂm/wﬁ@ﬁm
G ?
(a) =t firet
(b) CH,9xx C,H,
() CH, 9 C,H,
(d) C,H,

[11]



RIS

47. CUEAR G TAER RS wre) e (F)
Teotw (IS wioiters Foule aug Y Ie 12

Biology

47. In Mandelian monohybrid cross how many
offsprings of recessivse character will appear in F,

generation out of total progeny? 1 )
@ 1 ®) 3 3 ® 3
(C) | (d) 1 (¢) 4 (d) .
4 3 B 3
48. Various trophic levels of an ecological pyramid 48. o7 I IrgecE Praifces [few e T,
given below have beenindicatedas T, T,, T,and T,. T, T, &< T, It (el 2 | (i AR F6cH (I
In"which trophic level maximum energy will be =& si\emi a2
available? A
[ Ts\ / Ts \
f2 FEN [ T2 X
(@ T, (@) T,
) T, ) T,
© T, (© T,
@ T, @ T,
49. How many carbon is present in Acetyl COA? 49. wiFHREA COA-CS I ARG T ?
(a) Four (a) vRb
(b) One (b) <%
(c) Three (c) fe=o
(d) Two (d) ®
50. Antibodies are complex . 50. SIS O 2z Sibet
(a) Lipoproteins (a) =Resifceifba
(b) Steroids ) o
(c) Prostaglandins (©) carbianfes
(d) Globulin Proteins (d) TR caifod
51. Podocyte cell is found in human 51.  CAITSRIRG G <ieTl I TR
(a) Glomerulus (a) Q=T
(b) Bowman’s Capsule (b) e[ FASE
(c) Cerebrum (c) e
(d) Cerebellum (d) wToas

[12]



52. Thesimplestaminoacidis
(a) Lysine
(b) Leucine
(c) Glycine
(d) Methionine

53. Gastric juice contains
(a) Pepsinand trypsin
(b) Pepsinand HCI
(c) Trypsinand HCI
(d) Amylase and Pepsin

54, Maximum amount of water from glomerular
filtrate is reabsorbed in

(a) Proximal Convoluted Tubule

(b) Distal Convoluted Tubule

(c) Descending limb of Henle’s loop
(d) Ascending limb of Henle’s loop

55. What will happen if diameter of artery is
reduced?

(a) Blood Pressure will fall.
(b) Blood Pressure will increase.

(c) Blood Pressure will remain same.
(d) Blood will coagulate.

56. Which one of'the following is the correct set of
examples of a particular group?
(a) Mushroom, Yeast, Riccia—Fungi
(b) Starfish, Catfish, Dogfish— Pisces
(c) Paramoceium, Euglina, Obellia—Protista
(d) Whale, Frog, Bat—Craniata

57. Whose functions are same of the following?
(a) Stomataand Veins
(b) Stomata and Lenticels

(c) Lenticels and Parenchyma
(d) Hydathodes and Seive Tube

58. Find the odd man out
(a) Gonadotrophins
(b) Thyrotrophins
(c) Corticotrophins
(d) Vasopressin .

[13]

52.

83.

S5,

56.

5L

58.

FIETeN SR SuTe

(a) =TREW

(b) Frerm 3 A
(c) AP THals
(d) RfRefRw

G T St 2=

(a) i e Totfm

(b) ei=B e HCI

(c) T=Fw e HCI

(d) soriRETe S (ol ar

Cieea RRThia @R ot && %Wﬁ@ﬂ
(a) 533 7:3$ AfErITS Ilisv
(b) FIS 73S AfeReTS

(c) St et

(d) THNT e

YIS P IO (N D A2
(a) FTEHIo B A |

(b) F&bIA QT AI|

(c) TEbI% @R A |
(d) 7= &=t & IR |

Ao 1 A3 vl WS coidia Sz 2
(a) =, 3B, R — =@

(b) voraf, Fiofe, Tsifs — Sy

(c) *prifbmm, 2efaw!, erafem — e
(d) fof, FAm=ore, AMTE — =it

TN5a Ereafer T P P 432 TP ?
(a) “azm e M=t

(b) “T7F ¢ FEFHEE

(c) EForTE @ *hiaasiRst

(d) w=aF S Ao

fite e 7
(a) ColmITehEw
(b) ARG
(c) sbrERm
(d) St



§9. Which one of the following is a character of 59, N R ARHH TSR FEe

self-pollinated flower? (a) T 3T €T
(a) Flowersare largeand showy. (b) Aeifoef 7% A e A,
(b) Petals remain closed and do not open. (c) fomm STSaE @ AAAteRIa ~AfHeTE 2 |
(c) Stigmaandamhernmtm'catdiﬂ'erent time. (d) SRR sZeIaY Bem A |
(d) Pollens are prodneed in a very large '

quantities. '
60. .The chief excretory substance of vegeterian 60. Fafeid e 2+ (F64 I8

people s : () SR
(a) Ammonia . (b) T
(b) Urea (c) THRF=wIFE
(c) UricAcid | (d) =il wifie
(d) LacticAcid (5

R



History

61. Who wrote “The Spirit of Laws’?
(a) Adam Smith
(b) Rousseau
(c) Montesquieu
(d) Voltaire

62. The Treaty of Tilsit (1807) was signed
between

(a) France and Russia
(b) France and Prussia
(¢) France and England
(d) France and Austria

63. Who became the king after the July
Revolution of 18307
(a) Louis Napolean
(b) Louis Philippe
(¢) Louis Blanc
(d) Louis XVIII

64. Who was called ‘Czar the Liberator’?
(a) NicholaslI
(b) Nicholas Il
(c) Alexanderl
(d) AlexanderIl

65. By which treaty Clive secured the Diwani
of Bengal, Bihar and Orissa?
(a) Treaty of Allahabad
(b) Treaty of Alinagar .
(c) Treaty of Bassein
(d) Treaty of Bengal

66. The first Peshwa of the Marathas was
(a) Balaji Biswanath
(b) Balaji Baji Rao
(c) BgjiRaol
(d) Madhab Rao

G oo ann dotdW .02
O ailloe !

61. 0 s ae o i T2
(a) oo Ry ;
(b) =t
(c) =3
(@) wEeRE
0
62. woq%ﬂmﬁmﬁmﬂ%wmﬁﬂﬁ%
(a) =™ e AMTI TG
(b) T e AFTF TG
(c) % 8 TGS TG

(d) T e SRFAR TG

63. >voo RIHITHT TR R #i7 TR I @
TR ?
(a) =2 cTeeifersm
(b) =R ffeist
(© =RH
(d) =BT

64. Sfewe @ I I e
(a) =y FReEm
(b) o FreEm
(C) U IEFEIE
(d) ST wEREER

65. @i e wal FiRe A 27 @ Sieaa onsaifv
e FAfRE |
(a) IR Bf&
(b) SR &
() AFTAEE
(d) IR

66. TSI AL coAeI e
(a) = el
(b) I=EG IS
(c) 2w 3RS
(d) TS

L15]



67,5, Calcutta Medical College was founded by

68.

(a) David Hare

(b) Lord Hardinge

(¢) Sir Charles Wood

(d) Lord William Bentinck

The founder of Dawn Society was

%¥1¥ (@) Sachindra Prasad Basu

69.

70.

(b) Satish Chandra Mukherjee
(c) Aurobindo Ghosh
(d) Girish Chandra Ghosh

Who was known as ‘Lokahitobadi’?
(a) Bal Gangadhar Tilak

(b) Gopal Krishna Gokhale

(c) Gopal Hari Desmukh

(d) Gopal Ganesh Agarkar

The Congress declared demand for complete

independence in the year

71.

72.

(@) 1927 AD
(b) 1907 AD
© 1929 AD
(d 1950 AD

The Zollverein of Getmany was
(a) Teachers’ Union

(b) Tariff Union

(c) Students’ Union

(d) Revenue Union

Who wrote ‘Mein Kampf’?

(a)" Hitler

(b) Gottfried Fieder

(c) Frederick Ebert

(d) Hindenburg ¥

[16]

67.

68.

69.

70.

7.

72.

. FETTel (NS FeEe 2fdt I

(a) cofes @R

(b) =6 TE

(c) DAL T

(d) =76 TN TR

o GTMRG 2fodre! feww
(a) *Mbre &M 3

(b) T beg YA

(c) SRR @R

(d) T oe e

‘EIReaR’ AIm @ s e

(a) T e femr

(b) ColI=iTeT 38 (AT
(c) Cottsitet 2fF G
(d) CottolteT Site Siteiasa

A o FANER 2T 2> Hefes
(@) S»3a o
(b) S»oaq RBIH
(€) S»3> oI
(d) >seo B

EIeTeaien foe alifE
(a) PrReo

(b) BN

(c) TR

(d) e A

‘iz e 280 I B2
(@) oaw

(b) *ofFe e

(c) @EFeiFealn

(d) el



73. The Capital of India was shifted from
Calcutta to Delhi during the reign of

(a) Lord Curzon

(b) Lord Minto

() Lord Hardinge
(d) Lord Chelmsford

74. Who was the Viceroy of India at the time of
Jallianwala Bagh massacre?

(a) Lord Curzon

(b) Lord Minto

(c) Lord Bentinck
(d) Lord Chelmsford

75. Who was elected the first chairman of the
Constituent Assembly?

(@) Dr. B. R. Ambedkar
(b) Dr.Rajendra Prasad
(¢) Mahatma Gandhi
(d) Jawaharlal Nehru

[17]

7. wmﬁ’rwmﬁﬁwqmﬁ%ﬁa
(@) 16 PN AT
(b) =16 Rt e "')
(c) 16 frerm IwTaT )
(d) =716 s emE

74. SGifERNSTIAIRIT TIPS T SIS ST
@ e 2

(a) =16 e

(b) =16 T

(c) =16 @7

(d) =TS GRS

i)

75. it sifaama s TeilfS @ Fdite e

(a) @R =9 Seawes

(b) w3 NG 2

(c) = oIt

(d) ezl e

bt



Geography

76. The Sun looks the smallest from the earth

on

'T;';-j.:-,‘[r,'_(a) 3rd January
(b) 2lstJune
() 4thJuly

(d) 22nd December

77. Among the
denudationis a

(a) Constructive process
(b) Gradational process
(c) Destructive process

Geomorphic  processes,

(d) Endogenous process

78. In the equatorial region due to high
temperature and humidity
(a) Mechanical weathering is predominent
(b) Chemical weathering is predominent
(c) Both mechanical and chemical
weathering are predominent

(d) Organic weathering is predominent

79. ‘Outwash plain’ are formed by
(a) Glacial abrasion
(b) Glacial deposition
(c¢) Glacial plucking
(d) None of the above

80. [stay over the equatorial region. Due to high
temperature continuous ascent of air is common.
No horizontal flow of air is found. Who am I?

(a) Doldrums

(b) Horse latitude

(c) Geostrophic wind :
(d) Coriolis force

Claig

76. <23 (A T FRGE @G ORI

(@) AR
(b) 2lctgs
(c) 4515
(d) 22 o=

77. gl efFafE wrg afew == @

(a) o et
(b) =ffme aifra
(c) RapEe e
(d) wwEe afea

78. R SerE SiEe Taee! € wiwe! A

(a) A SRR S Gl T

(b) PR SRR ey i I

(c) e e IS WNZRAER @iy o7l T
(d) o SRR Al T A

79. 3% Rl wref sfFe =
(a) foraes wed T
(b) fEraicEs ieen S
(c) Tz Gesiitn fEram
(d) T @EIDE a7

80. wNfS el wees 2UfF | G S TaeeiR we)
Y A ST AT | I TS 2312 2R AR A |
wifil

(a) CoETgH

(b) S SPEIRH

(c) frezRFsany

(d) ﬁ]ﬁ'ﬁﬁﬁﬁﬂ“-":'hhfl -
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81.

82.

Hurricane is one type of

(a) Easterly wave

(b) Temperate cyclone

(c) Anticyclone

(d) Tropical cyclone

Somali Current flows along the coast of
(a) Africa :

(b) Oceania

(¢) North America

(@ Europe

83,

" The highest plateau of India is

(a) Deccan plateau
(b) Patregion

(c) Ladakh plateau
(d) Meghalaya platean

84. Pulm, Palas, Sirish etc. are important trees of

85.

86.

(a) Himalayan Mountainous forest
(b) Dry deciduous forest

(c) Wetdeciduous forest
(d) Evergreen forest
Rainbow revolution related to
(a) New Agricultural Policy
(b) EggProduction

(c) Artificial Rain

(d) Non-conventional energy
Alluminium is produced from
(a) Biotite _ 5

(b) Magnetite

(c) Bauxite

(d) Anthracite

87. Which industry is called the ‘Sunrise
Industry’?

(a) Automobile Industry

(b) Jute Industry

(c) Cotton Textile Industry
(d) Petro-Chemical Industry

(8]

81.

82.

83.

84.

85.

86.

87.

YR 2 GFeTR
(a) o=

(b) AR gfare
(c) =S gfars

(d) w8 gfare

T IS (@ SRR Toig IART 2RAIRS =

(a) ==

(b) s

(c) TeaEs

(d) e

(a) wifFirey sETRf

(b) =it e

(c) = Tl

(d) crarET Sergh

e, #feie, RIS 2o sie slaiee ot
(a) e “idfey SresteTa ITfie
(b) us AD FTghice

(c) =¥ #AefeaniDl Igfins

(d) forzfae wghine

Ay R e A 32

(a) TeIPRMS

(b) fom Sesiiwa

(c) i‘@“{ﬁ"f@

(d) hanRe=fe
s el 23

(a) GRS &

(b) INCADRS (A

(c) TR @

(d) SOWINRG (AT

T PE i sifafoe @ e et ==

(a) GGG Fsfiel st
(b) G feier

(c) <iefior a3 iy
(d) Cow-zoTE Fm



88. The population sex ratio is lowest in which 88. 2011 Twoiial SR, 7% AT FBE I @
state / union territory as per 2011 census e 9 (ol SigsrE
(a) Hariyana (a) i
(b) Daman (b) w=
(c) Kerala (c) A
(d) WestBengal (d) =5z
89. ' Vitim and Aldin are two principal tributaries 89. TofSw e wEmig @7 =4l 1t S, (3712 FAi
of theriver f gl
(@ Ob (@) &1
(b) Yenisey (b) @
(c) Lena (©) W
(d) Amur (d) =g
90. In West Bengal the river which makes a 90. ~AMSIIHT @ T AT € I (T A
boundary between the two districts of Birbhumand 2= 3502 Gifo =
Bardhaman
(@) Ajay (a) em
(b) Damodar (b) WG
(c) Mayurakshi (c) @
(d) Kangsabati (d) oS

[20]



Political Science

91. The words ‘Socialist’ and ‘Secular’ were
added to the Preamble of the Constitution of India
by the

(a) Original Text of the Indian Constitution
(b) 42nd Constitutional Amendment Act
(c) 44th Constitutional Amendment Act
(d) 93rd Constitutional Amendment Act

92. How many members in the Rajya Sabha
can be nominated by the President of India?

(a) 2
(b) 4
(c) 6
d 12

93. The ‘Social Contract’ was written by
(a) Aristotle
(b) Machiavelli
(c) Plato
(d) Rousseau

94. The headquarter of the International Court
of Justice is

(a) New York
(b) Paris

(c) Heague
(d) London

-

95. The declaration of ‘South Asian
Association for Regional Co-operation’ (SAARC)
was signed on

(a) 1983, 8th December
(b) 1985, 8th December
(c) 1981, 8th December
(d) 2007, 8th December

BRI

91. wiolE WRUGH AvRAE SHEefEe e
‘ifferaei® «weflE 3@ 2t
(a) ©ECed Y& AR
(b) 83®% FYI A T2
(c) 88w MR AL SR
(d) >oox IRl S SEE

92. dIEPTSR SiAred RS FoT Ty AN
FATS A ?

(a) 2o
(b) 8T
() vE&q
(d) sa@w

93. Siife pfe 2gf w5t FEfeeEm
(a) SifEHoe
(b) ifITSTH
(c) camt
(d) ot

94, SITHIST ATIEACST FF 7ET T
(a) % z2aF
(b) =z
(c) A
(d) =T

95, wiEFd @R Sl FEEiftet JE’ At AE @
T qrEEe e

(a) Ssvo AlEE v2 CrEa
(b) Sste AEF v2 o=
() S AN v fTrHa
(d) 2004 A=A ¥R CrEa

; [21]



Economics

96. Excess supply of money will not create
inflationary pressure if, in the country,
(a) demand for different goods and
services increases.
(b) productivity increases.
(c) rate of tax decreases.
(d) rate of interest decreases.

97. Which one of the following costs has to be
incurred even if production remains closed for a
temporary period?

(a) Electricity charges.

(b) Transportation costs.

(c) Rent for factory building.

(d) Expenditure on raw materials.

98. The three basic problems of an economic
system arise from
(a) inequality of income.
(b) market failure.
(c) failure of planning.
(d) scarcity of resources.

99. Which one of the following is not a source
of government revenue?
(a) Grant-in-aid
(b) Public debt
(c) Stamp duty
(d) Income tax

100. Which of the following institutions is the
Central Bank of India?

(a) State Bank of India
(b) Indian Bank

(c) Central Bank of India
(d) Reserve Bank of India

EPOL LA

gefaife

96. i Sfefie @A rFfestTs viel 43 F93
1 3w credt

(a) fafew w3y @ wiftwia 3fa 96 |
(b) wiferg Testivna 3 i |
(c) FEI YA ZM #AF|

(d) o= == ZF A

97. S5 @ M Teotww AT 35 AFCEe
otz et =2

(a) Rge e 3|

(b) ==z 33|

(c) FIFAM TR &= &we STl |
(d) SIBITeT G 496 |

98. @ WS o=l cifers 10y Sge =
(a) SR (T (AF |
(b) IR PR IO (AT |
(c) “fszmmta et (A |
(d) ToRareia TRliore! (A0S |

99, SHA H[G HIPIAT AT T 7 2
(a) 253743 (grant-in-aid)

(b) s T RS
(c) By TETH
(d) W=

100. AT @ER JIEI A
(a) GO0 = OIF A |
(b) 2ewm Fiw|
(c) CTHE IE oIF e |
(d) Frers s s |

2]



GOVERNMENT OF WEST BENGAL
DIRECTORATE OF SCHOOL EDUCATION
NATIONAL TALENT SEARCH EXAMINATION, 2016
(STATE LEVEL)

(FOR STUDENTS STUDYING IN CLASS X)
Language Test (English/Bengali/Hindi/Urdu/Nepali)

SR SR (LA AeE/ /B i)

Select only one language to answer the questions and darken the circle against the
selected language in OMR answer sheet.

FIEIE GFH SET Ter fire 23| €.  w. Wi, T e srm vfites 3 @it

AT (oI Twen ofara wie|
State Code  Year Code Centre Code Serial No.
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Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 50 questions.
Each question carries 1 (one) mark. You are to answer all
the questions.

2. Before youproceed to mark inthe OMR Answer-
Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ .' @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.,

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall. 5

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll no. in
OMR Answer Sheet.
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7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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English

Q. 1-5. Read the passage and answer the questions
given below:

It happened one day, about noon, going towards my
boat, I was exceedingly surprised with the print of man’s
naked foot on the shore, which was very plain to be
seen in the sand. I stood like one thunderstruck, or as if
I had seen an apparition. I listened, I looked round me,
I could hear nothing, nor see anything. I went up the
shore, and down the shore, but it was all one, I could
see no impression but that one. I went to it again to see
if there were any more, and to observe if it might not be
my fancy; but there was no room for that for there was
exactly the very print of a foot—toe, heel and every
part of a foot.

Choose the correct answer from the options given
below:

1. On finding the foot-print on the shore, what did
the author do?
(a) Did not pay much attention.
(b) Began to investigate its origin.
(c) Ran away in fear.
(d) Went to his boat.

2. Which one of the following expressions best
describes the emotion evoked by the foot-print in the
author?

(a) Curiosity
(b) Indifference
(c) Terror

(d) Surprise

3. How does the author convince himself that the
foot-print is a real one?

(a) By finding the person who made it.

(b) Being told about it by a witness.

(c) By thinking about it for some time.

(d) By examining it carefully and noticing its
details.

4. Which one of the following expressions best
brings out the effect of the foot-print on the author?

(a) Stqod like one thunder-struck
(b) Could hear nothing

(c) Went up the shore

(d) Looked round himself

5. The passage is full of short simple sentences.
Their purpose is to

(a) facilitate easy understanding.
(b) give a plain narration.
(c) convey breathless excitement.

(d) imply the inability of the author to write
in a better way.

Q. 6-10. Read the following passage and answer the
questions given after it:

Dr. A P J Abdul Kalam was one who constantly
worried about how technology can help the common
man, the disabled, and the disadvantaged. Even as he
was involved in applying technology to produce tools
and devices for national defence, he asked “what else
can they do” for the community at large. His interest
and contributions in the health sector may be exemplified
through two examples. When he realized that a coronary
stent (a small extendable tube inserted in order to help
smooth blood flow in heart patients) cost over
Rs. 60,000, he decided to make a prototype, using the
safe, biocompatible and long-lasting stent from the
alloys used in missile technology. He worked with
Dr. Somaraju in this project and they succeeded to make
it. This Kalam-Raju stent proved to be a low cost, safe
and effective stent; it is now used in several hundred
patients with success. Similarly, noting that the calipers
that polio-affected individuals use for locomotion are
not only heavy but also expensive, he devised (along
with Dr. Narendra Nath of Hyderabad) a far lighter one,
made of a composite material used to make the nose
cone of the Agni missile.

Choose the correct answer from the options given:

6. Dr. Kalam took interest in the health sector
because

(a) he was involved in producing stent.

(b) he wanted to help the disadvantaged
students.

(c) he wanted to use technology to help
cOommon man.

(d) he was involved in producing missiles.
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7. Kalam’s contribution to health sector proves
why
(a) he was called people’s president.
(b) he wanted to be the president.
(c) he became a doctor.
(d) he worried about the diseased.

8. A coronary stent is required by patients
suffering from
(a) Kidney problem
(b) Heart problem
(c) Lungs problem
(d) Blood problem

9. The phrase ‘at large’ here means
(a) in the main
(b) on the loose
(c) onaverage
(d) in general

10. Calipers is used by patients who have problem
(a) in carrying heavy things.
(b) in moving from one place to another.
(c) in moving hands and feet.
(d) in moving any limb.

Q. 11-15. Read the following passage and answer
the questions given after it:

J(oanne) K(athleen) Rowling claims that she was a
compulsive storyteller from a young age. On a
particularly long train journey from Manchester to
London in the summer of 1990, the idea came to her for
the story of a boy who finds out he is a wizard and is
sent off to wizard school. The Harry Potter series—
which begins with Harry Potter and the Philosopher’s
Stone (1997) followed by Harry Potter and the Chamber
of Secrets (1998)—was conceived from the start as
comprising seven novels, covering to the seven years
Harry spends as a pupil at the Hogwarts school of
Witchcraft and Wizardry and exploring, among their
many themes, the development of identity during
adolescence. On his 11th birthday, the orphaned Harry—
whose life until then has been a litany of misery with
his aunt, uncle and obnoxious cousing Dudley—
discovers he is a wizard and is whipped off to a magical
version of the traditional boarding school where he
learns the craft of wizardry.

Choose the correct answer from the options given:
11. The stogy of Harry Potter was conceived by
Rowling during
(a) atrain journey in winter.
(b) a train journey in summer.
(c) atram journey in summer. A
(d) a train journey in monsoon.

12. The second story of Harry Potter was published
in the
(a) eighth decade of nineteenth century.
(b) fourth decade of twentieth century.
(c) last decade of twentieth century.
(d) final decade of nineteenth century.

13. What does the expression “litany of misery”
signify?
(a) types of misery
(b) traces of misery
(c) list of misery
(d) sufferings of misery

14. One of the themes explored in Harry Potter
stories is
(a) development of a person’s identity.
(b) development of adolescent psychology.
(c) development of identity of wizards.
(d) development of identity of orphans.

15.  Select which of the following statements is true?
(a) The Harry Potter series starts with Harry
Potter and the Prisoner of Azkaban.
(b) The second book on Harry Potter is Harry
Potter and the Chamber of Secrets.
(c) The last book on Harry Potter is Harry
Potter and the Philosopher’s Stone.
(d) Harry joined Hogwart school of Witchcraft
and Wizardry at the age of 12.

Q 16-17. The following five sentences come from a
paragraph. The first and the last sentences are given.
Choose the order in which the three sentences
(P,Q,R,) should appear to complete the paragraph:

16. S1. It would be foolish to deny that the
countryside has many attractions to offer.

S2

S3

S4

S5 One soon gets tired of looking at the same
old scenes and same creatures.

P - But there is another side to the picture.

Q - The honesty and frankness of the country
folk, too, is a refreshing change from the
dishonesty and selfishness we find in so
many urban people.

R - There are the lovely scenery, varied wildlife,
and the clean, healthy air.

Choose from the options given below:

(a) RQP
(b) PQR
(c) RPQ e
(d) QPR V32 2
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17. S1. ‘As a matter of fact,” said the boy modestly,

‘I'm a spaceman’.

S2
S3
S4

S5 *“You can’t see it from here.’

P - ‘I'm a spaceman’, he said again.

Q - ‘From another planet.’

R - George and Cathy stared at the boy.
Choose from the options given below:
(a) RQP

(b) QPR

(c) PQR

(d) RPQ

Q. 18-19. These questions have the second sentence
missing. Choose the appropriate sentence from the
options given below:

18. P- As a boy, Premchand had developed a

19.

voracious appetite for books.
Q-
R - These were, by and large, stirring sagas of
romance and adventure.

(a) Premchand and a few of his friends would
meet regularly and read aloud from their
favourite books.

(b) It was perhaps natural that a man, who
loved books as much as Premchand did,
should take to writing.

(c) His first novel appeared in 1901 and his
first short story in 1907.

(d) He read all Urdu novels he could lay his
hands on. .

P- According to Megasthenes all the Indians
were free and not one of them was a slave.
Q-
R - As a matter of fact slavery did exist, though
in a form hardly noticeable to a Greek.
(a) Butin the light of Arthasastra we can never
modify this statement.

(b) But in the light of Arthasastra slavery
cannot be defined.

(c) Butin the light of Arthasastra we have to
accept this.

(d) Butin the light of the Arthasastra wg have
to modify this statement.

[5]

Q 20-29. Choose the word that best fills the blank
from the four options given:

20.

21.

22.

23. The
running of the children’s library.

24. Great men often
grossness of society.

People were their lips over a tasty tidbit.
(a) showing

(b) licking

(c) smacking

(d) putting

The car to a halt.
(a) crashed

(b) screeched

(c) slammed

(d) whirred

A of deadly weapons was unearthed in

the godown.

(a) group
(b) troop
(c) stockpile
(d) volley

is being prepared to ensure smooth

(a) list
(b) itenerary
(c) mass

(d) catalogue

a crusade against the

(a) waged
(b) fought
(c) achieved
(d) struggled



25. OQur efforts were all in

(a) vain
(b) volley
(c) vein
(d) vane

a0 The of the fort lasted for a month.
(a) cease
(b) seize

(c) cess

(d) seige

27. The rector read out the
(a) sum
(b) psalm
(c) some
(d) prayer

28. He hasno
(a) attention
(b) application
(c) aptitude
(d) abundance

for Mathematics.

29. The mosquito is a to public health.
(a) mentor

(b) mirror

(c¢) manager

(d) menace

Q. 30-35. Select the meaning of the given phrases/
idioms:

30. through thick and thin
(a) oppressively
(b) just at the right moment
(c) under all conditions
(d) get oneself in trouble

-

31. atsea
(a) perplexed
(b) in ocean
(c) riding .
(d) delighted

32. in black and white
(a) in taking
(b) in running
(c) in keeping
(d) in writing

33. smell arat
(a) a constant source of annoyance
(b) not to be thought of
(c) some cause of quarrel
(d) have reason to suspect something

34. awild goose chase
(a) search in wilderness
(b) a foolish and fruitless search
(c) chasing a wild animal
(d) never ending chase

35. hush money
(a) grab
(b) loot
(c) recover

(d) bribe

Q 36-40. In the following passage there are some
numbered blanks. Fill in the blanks by selecting the
most appropriate word from the given options:

Puerto Escondido is a tiny fishing village
——36—— a bay protected by 37— cliffs in
the Mexican state of Oaxaca which rose to become
an important shipping hub for the coffee plantation
38 around the nearby foothills in the 1920s.
Being quite 39 due to its —40—— and
dense vegetation, it only opened up to the outside world
with the building of a coastal highway in the 1960s.

36. (a) overcome
(b) overlooking
(c) overhauling
(d) overseas

37. (a) jagged
(b) stimulated
(c) tilted
(d) undulated
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38. (a) situated
(b) terminated
(c) scattered
(d) distributed

39. (a) rented
(b) derived
(c) congested
(d) isolated

40. (a) remoteness
(b) stillness
(c) brightness
(d) greenness

Q 41-43. Out of the given alternatives, choose the
one which can be substituted for the given words:
41. A place where money is made
(a) bank
(b) press
(c) mint
(d) treasury

42. A person leaving his native country to settle in
another

(a) immigrant
(b) nomad
(c) traveller

(d) emigrant
43. One who knows many languages
(a) linguist
(b) polyglot
(c) rhetorician
(d) stylist

Q 44-45. Select the word which means the opposite
of the given word:
44. Autonomous
(a) magnanimous
(b) operational
(c) dependent
(d) ambiguous

45. Sophisticated

(a) rustic
(b) rural
(c) civil
(d) domestic

Q 46-47. Select the word which is nearest in meaning
to the given word:
46. Candid
(a) vague
(b) frank
(c) secretive
(d) experienced

47. Malaise
(a) sickness
(b) curse
(c) stagnation
(d) spite

Q 48-50. Choose the appropriate phrasal verbs to
complete the sentences:

48. The ceremony

smoothly.

(a) passed off

(b) passed on

(c) passed over
(d) passed through

49, Letus all formalities.

(a) setup
(b) set aside
(c) setup
(d) setupon

50. The auditor —— the account.

(a) looked at
(b) looked up
(c) looked through
(d) looked on
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